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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST — HEAD DRAUGHTSMAN
TEST — PAPER - II

(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE

ellfleurar eflenL_wiafl &G0 cuans ellenmggmer

Read the following instructions carefully before beginning to answer the

questions.
ellenré s EnéE el waflss QsTL kG ey SD&EaTL oifle|eySemer SaUETLDNG L S&a]LD.

1. Answers in excess of the prescribed number of questions appearing at the end of the
answer book will not be valued.

e semer  @HNA  Perer  crameanilismasE s ﬂ@@uﬂ@ulﬂdﬂ, ellenL_ggmerfler

QmiFludle 2 erer 2185 eramraniiGansuiemar eflenLser wHLTEH Qelwudiuerg).
o In case of doubt, English version is the final.
eflamméasaiiey sHCsaE B 6m B eyl AarRssiul Herer elamssCer @mndwirears.

3. Candidates should use the special kind of papers provided separately by the
commission for answering the questions in respect of the diagram/datas entry type.
They should not answer in the printed forms if any in the Question paper.
efl@meRT LS TTTEHET uaTUL LD auenSe/ sraysamar 2 atat(h) Qewige Asriurear elamés@nés
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1.

Date of Observations : 25.03.1993

Compute the watch time Slow or Fast from the record of observation given.

-

(25)

Qer@ssiucL. flog ydrefl eluriseflelmbs sqsrr Comb Wlg Causwrast (Fast) sidas

snwsragr (Slow) erar sansfLab.

Record of Observations for Time and Azimuth

- Approx. Longitude : E77-45'-12.24"

Value of One division : 20 Seconds Approx. Latitude : N11-19-02.62
b2 Horizontal Angl
> VERTICAL ANGLES |LEVEL S
o (For Azimuth only) .
-~ Q (<}
.2 o Watch ﬁ g g = 53
5 o A g Time < M g E2 | g0 s
& g g © g g < B E | e 2
= ® g g o g g = 8 = 8 2 2]
g |s 5 8 S 5 8 °’ 2+ S | §F =
= = > > = =3 = B = e 3 B
s @ o é o =
< : = = S
RO E| O |H|M|S|290 25| 00| 25| 00| 290 25| 00
L, | L |13|42|00|42|00|13/42/00| 5 | 5 | 7 |19(47| 19 06| 00| 06| 00| 19 06| 00 Bapl) 00
[ L |13]|16]|00| 16 |00 [13|16[00| 5 | 5 | 7|20|29| 19| 42| 00| 42| 00| 19| 42| 00[89|17|00| 88.59.00
RO | L ' : 290 25| 00| 25| 00| 290 25| 00
- 89.01.30
RO | R ' 110 25| 00| 25| 00| 110 25| 00|89 21|00
L, | R [14[23/00|23 |00 |14/23/00| 5 | 5 |7 |22|36]| 199 46| 00| 46| 00| 199 46| 00
A 89.04.00
E R [14]04/00( 04 | 00 |14{04|00( 5 | 5 |7 |23|26(199 12| 00| 12| 00| 199 12| 00
88|47/ 00
RO | R ; 110 25| 00| 25| 00| 110 25| 00
Date Apparent Declination Diff Equation of time Diff Parallax Altitude Refraction
24.03.93(+) 1-20-13.80" (-) 06 16'24” : 10.8.8° . 76.00° 0.03'-49.60
1417.0 18.09

25.03.93 1.43.50.80 (-) 05.58.15 15.8.6 76-10 0.03-52.50

‘ 1414.6 18.11

26.03.93 2.07.25.40 (-) 05. 40.04 20.8.4 76-20 0.03.55.20

2.  Work out in a Survey Circuit traverse shown below upto Area. (25)

&Cw Qar@asliul_(Rerer g rreuren sndleaner LTlilameans seaefléseay b

Station Angle Bearing Distance (meter)
Hlenewid Camentid gi(meusCamenTid &b (BLLr)
A 54.27 AB-161-27 71.8
B 193.49 - ' 104.0
C 193.37 129.6
D 94.11 ' 118.0
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(a)

(b)

Station Angle Bearing
fleneowid Camentid Sl(meusCamanTid
E 178.52
F 206.03
G 63.00
H 171539
I 193.23
J 90.59
In a Triangle ABC

If Side a =79.4 cm

Side b =105.4 cm

Side ¢ = 97.0 cm

Find out the area of Triangle.
Qer@ésiu’ L wé&Gsmewrd ABC-é

ussbd a =79.4 Q.18

‘ussb b =105.4 Q&8

Lu&s ¢ = 97.0 QF.18 erafle

w&Caremsslen Llilenans srars.

In a Triangle ABC.

AB =800 cm
AC=500cm
CB =400 cm
Find out the value of AD and CD.

| w&Camemid ABC— e

00

50

AB =800 Qs..5
AC =500 Q&.15
CB =400 Qs..5
AD wpmib CD—uler willnlenens smewrs.

3

B

Distance (meter)
Sy (B i)
78.8
35.0
42.6
43.2
196.0
308.8

(®)

5)
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4. What are the records to be submitted to Head Office on completion of street survey?

(10)
Qs eTeney (1Plybs LAGTETT SR AQIIVSESHDE FWTIbNSsILL Couamy Ll e lamThISET
wmened ?
5.  Write short notes on (10)
(a) Magnetic Bearing
(b) Clestial Meridian
(¢) Compliment of Angle
(d) Purtal Line
(¢) Parallax.
fo GHOILS SOHS.
(<=1) Cusemrgs Guiflm
(<=4) eumaflwed Clofiguiesr
(&) smblleflGearm =yl oy midler
(FF) WLITL_6) enevenr
(2.) Curpesen |
6. Write short notes on the Sub-Process in the initial Survey and Resurvey (10)
(@) S.P.(6)
(b) S.P.(8)
() S.P.(11)
“(d) S.P.(16)
(e) S.P.(30). ‘
<24 TbL Flev Sfemeneu HmID L) Hle SaTerauudled Spésa. o LiLailsensstear Slm GHIUL S5s.
(=1) eren.4(6)
(w) ero. (8)

(@) aev.d (i1)
() a9 (16)
(2) arev.9 (30)

7. What are the records to be submitted to Central Survey Office after completion of

Town Survey Work? (10)
B&TeTenal (Plgeihmgid waslw Hlo jearency &gﬂm@&gyﬁm@ Sigitin Geuanmgw LFCouBsar
- eTemeu? ‘
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